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IMC OTM v.22 Errata & Addendum for Units 1 and 2

‘Finally, a further levy of £1 on all purchases and sales on excess of £10,000 is charged to
finance the Takeover Panel (the PTM levy).’

Should read:

"'Finally, a further levy of £1.50 on all purchases and sales on excess of £10,000 is charged
to finance the Takeover Panel (the PTM levy).’

1 13 ‘A further levy of £1 on all purchases and sales of shares in excess of £10,000 is levied to
finance the PTM levy.’
Should read:
‘A further levy of £1.50 on all purchases and sales of shares in excess of £10,000 is levied
to finance the PTM levy.’
1 13
‘PTM levy for two trades £2.00
Net cost (absolute) £70.46
Net cost (percentage) 0.66%"
Should read:
‘PTM levy for two trades £3.00
Net cost (absolute) £71.46
Net cost (percentage) 0.67%'
1 25 ‘PDMRs and their connected persons must notify the listed company concerned and the FCA

within three business days of a transaction (both sale and purchase of any value).’
Should read:

‘PDMRs and their connected persons must notify the listed company concerned and the FCA
within four business days of a transaction (both sale and purchase of any value).’
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‘The turnover test is met if the target company has a UK turnover of £100m or more’
Should read:

‘The turnover test is met if the target company has a UK turnover of £70m or more’

271
‘Pensions
Annual allowance £40,000 £60,000’
Should read:
‘Pensions:
Annual allowance £60,000 £60,000’
306
85. Given that higher-rate taxpayers prefer capital gains to income, which type of fixed
income securities may pension funds prefer to avoid?
Should read:
85. Given that higher-rate taxpayers prefer capital gains to income, which type of fixed
income securities may such an investor prefer to avoid (assume the investment is outside a tax
wrapper)?
311 ‘Jeremy is a higher-rate taxpayer so CGT 24,500 x 28%
Answer: £6,860
(Note: tax rate = 28% as it is a sale of residential property that is not a main residence)’
Should read:
‘Jeremy is a higher-rate taxpayer so CGT 24,500 x 24%
Answer: £5,880
(Note: tax rate = 24% as it is a sale of residential property that is not a main residence)’
ix '8.3.2 Explain the concept of normal and subnormal levels of profit’

Should read:

'8.3.2 Explain the concept of normal and supernormal levels of profit’
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Figure 7.9
‘Mean Median Mean’
Should read:

‘Mode Median Mean’
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36
A simple macroeconomic forecasting equation for consumer prices index (CPI) inflation might look like this:
(t+1)=a+b=c
Should read:
A simple macroeconomic forecasting equation for consumer prices index (CP1) inflation might look like this:
CPlinflation next year (t + 1) = a + b (wage inflation this year, i.e. attc:r'rn::lity price
inflation this year)
44

'The second value is calculated thus:’
Should read:

‘The second value is calculated thus:

Second value = 100 x [(%) x (%)]1/2 = 101.29’
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50 'Now, what is the value of this deposit after three years if interest is paid annually?
Here: r=0.1;
T=3;
D=£100; and
m=1.
D;  =£100x[1+0.1]
=£100x (1.10)°
=£100x 1.334=£134.49"
Should read:
‘Now, what is the value of this deposit after three years if interest is paid annually?
Here: r=0.1;
T=3;
D=£100; and
m=1.
D,  =£100x[1+0.1]
=£100x(1.10)®
=£100x1.331=£133.10'
160

Suppose initially that good X costs £1 in the UK and US$2 in the USA. Both countries experience a rate of
inflation of 10% over the next year. The price of good X rises in the UK to £1.10 and to U5$2.20 in the USA.

Now:
£1.10 = good X = US$2.20

Dividing through by 1.1 gives:

E1.10 JUS$2.10
11 ] 11

Should read:

Suppose initially that good X costs £1 in the UK and U552 in the USA. Both countries experience a rate of
inflation of 10% over the next year. The price of good X rises in the UK to £1.10 and to US52.20 in the USA. Now:

£1.10=good X = US$2.20

Dividing through by 1.1 gives:

£1.10 _Jus$2.20

1.1 1.1
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24. |a) The international Fisher effect:
(1+Rg) (1+Rg)
(1+ E[LE}) (1+ E(j:)]
1.055 . 1.04
(1+Ey) 1015

Expected UK inflation E[ifj = 2.96%

Real interest rates should be equal in both countries. In the USA, the real rate is:

_ (1+0.04)

= ——— 2 4H
=0 +0015) %

Thus, the UK real rate should be: 1.055 + x = 2.96%

Should read:

24. (a) Theinternational Fisher effect:

(1+R]) _ (1+Ry)
(1+E;,) (1+E;)
1.055 1.04
(1+E;) 1.015
1.055
————— = 1.0246
(1+Eg)
1.055
1+E; —
( w = 1.0246
(1+E,) 1.0296

Expected UK inflation E = 2.96%
Real interest rates should be equal in both countries. In the USA, the real rate is:

(1+0.04)

— =2.46%
(1+0.015)

Thus, the UK real rate should be: 1.055 + x = 2.96%

178

25. (¢
Interest parity:

(1 + UK interest rate)
(1 + US interest rate)

(F/E) =

Should read:

(E/F)F (1 + UK interest rate)
(1 + USinterest rate)
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‘Small Medium-sized
Turnover <£6.5m <£25.9m
Balance sheet total <£3.26m <€12.9m
Average number of employees <50 <250’
Should read:
‘Small Medium-sized
Turnover <€£10.2m <£36m
Balance sheet total <€5.1m <€18m
Average number of employees <50 <250’
226
5.
purchase price of machine - expected residual value
Annual depreciation expense =
number of years
_ £50,000 - £2,000
4
= £12,000 per year
3 x £12,000
= £36,000
Should read:
purchase price of machine - expected residual value
Annual depreciation expense -
number of years
_ £50,000 - £2,000
4
= £12,000 per year
Accumulated depreciation after 3years = 3x£12,000
= £36,000
387

Active share = 14| abs

Should read:

Active share

]

WEightportr’olio,i - WEightbenchmark,i
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_(10-6)2+ (15— 12)2 + (=5 (=2))" + (6 — 6)* + (8 = 5)°

Should read:

5-1

466
, (745 —704) x 100 ,
Return = 704 = 0.07244 x 100% = 7.244%
Should read:
, (745 —704) + 10 ,
Return = 704 X 100% = 0.07244 x 100% = 7.244%
491

'Sharpe measuresnds

Should read:

'Sharpe measurequnds

_ Rp—R¢
oB

_12% — 4%
B 8%

_ Rp-R¢
==

12% — 4%
T 18%

=0.44'
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520
Current assets — inventory
Current liabilities

35. Quick ratio =

_ £0.5m + £1.0m
- £0.5m
=3.0
Should read:
Quick ratio = CASH + TRADE RECEIVABLES
CURRENT LIABILITIES (HERE TRADE PAYABLES)
_ £0.5m + £1.0m
B £0.5m
=3.0
522
75. [d)

_ % change in quantity of the good demanded
- % change in price

Price elasticity of demand

—20%
+5%

Should read:

75. (d)
% change in quantity of the good demanded

Price elasticity of demand = % change in price
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100. (a)

Price to book ratios:

ShareA: 2P _ 069
are A: m— E
ShareB: 0P _ 104
are b: m— .
Share C: 2% _ 960
are L: m— .
ShareD: 9P _ 35
are L) 120p_ .

Share A has the lowest price to book ratio.

Should read:

100. (a)

Price to book ratios:

250p

Share A: — = 0.69
360p

Share B: 2% = 1.04
150p

Share C1Z22 — 9,60
75D

Share D: 2222 _ 3 85
120p

Share A has the lowest price to book ratio.

525
Question 105. (c)

Earnings
Issued share

_ £10m
" 69.44m

Share C earnings per share =

=69.44m

Should read:

Earnings
Issued share

Share C earnings per share

__£10m
~ 69.44m

=£0.144
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